Algebra 8 TWMM Review
Write the equation for the lines shown in the graphs below.
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Determine whether the relationship between x and y is linear or not. If itis
linear, write the equation. If it is not linear, explain how you know.
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Write the equation of the line given the following conditions:
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Using Mathematical Models

The number of seeding trees that can be planted in one day depends on the number of
students in the work group. Data from several different work groups is shown in the
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At Metropolis Middle School the student government earns money by recycling cans and
bottles after school events. Some sample (attendance, containers) data are shown in the
graph below, along with a line modeling the pattern in the data.

a. Use the points (200, 100) and (50, 25) to find an
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d. Explain what the values of m and b in your equation tell about the relationship
between number of containers to be recycled and attendance at the school event.
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Susan measured the heights of 1, 2, 3, and 4 stacked cups. Here are her data:

Number of cups 1 2 3 4
Height of the stack 7cm | 8cm 9cm |10cm
of cups

a. Write an equation to describe the pattern

b. What does the coefficient of x mean in this context? Does it have a unit of
measure?

c. What does the constant term mean in this context? Does it have a unit of
measure?
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